RYOBI
INFLATOR ACCESSORY FOR GD200
MODEL NO. GDM800
REPAIR SHEET



INFLATOR ACCESSORY FOR GD200 - MODEL NO. GDMS800

The model number will be found on a label attached to the motor housing. Always mention the model number in all correspondence regarding your
INFLATOR MODULE or when ordering replacement parts.




INFLATOR ACCESSORY FOR GD200 - MODEL NO. GDMS800

The model number will be found on a label attached to the motor housing. Always mention the model number in all correspondence regarding your
INFLATOR MODULE or when ordering replacement parts.

KEY PART

NO. NUMBER

1 039843001001
2 039843001301
3 039843001007
4 039843001041
5 039843001015
6 039843001302
7 039843001024
8 039843001044
9 039843001303
10 039843001033
11 039843001034
12 039843001035
13 039843001031
14 039843001032
15 039842001036

PARTS LIST

KEY PART
DESCRIPTION QTY NO. NUMBER
Reel Front Cover .......oooiiiiiiiiiieeee 1 16 039843001304
Reel Assembly......ccooiviciiiiiiiieee e 1 17 039843001305
Metal Gasket .......ccceevvieeeeeieiieeee e 1 18 039842001039
Trigger Handle (Inc. Key Nos. 25-26) ............ 1 19 039842001002
Screw (M4 X 14 MM) .eooviiiieeeeeeee e 4 20 039843001040
Hose Guide Assembly.......ccccveeeereeeeiieiiccnnnns 1 21 039843001043
Lower Motor Base Pad ........cccccceveveeiiiiiinnes 1 22 941001394
O-RiNG ereiieicieiee e 1 23 941001395
Motor ASSEMDIY ....oooiiiiiiiiiiee e 1 24 941001396
Upper Motor Base Pad .......cccccccveeiiiiiiinnes 1 25 941001441
Motor Bracket ......cooeveiiiiiiiiiiiieeei e 1 26 941001442
Screw (M4 X 16 MM) ..oovviiiiieeeeeieeee e 4 NOT SHOWN:
Circuit Board ........coccveeeeririiieeeeeiiieeee s 1 941001444
Screw (M3 X 6 MM) ..oeeveiiiiiiieeeiiee e 4 991000875
Screw (M3 X 12 MM) ..eevveeeeeeeeeeeecceceeeeeeeen 4 12-27-16

(Rev:01)

DESCRIPTION QTY
Power Plug Assembly ..........cccoeeiiiiineneinnnee. 1
Pump Housing (Inc. Key Nos. 22-24)............ 1
Screw (M4 X 16 MM) .ooeeeeieeeeeeiiieee e 11
Screw (M5 X 12 MM) coooeiiiee e 1
Wire Harness ......oooeeiiieieeeeeeeee e 1
Wire Clamp Cap ....ccccccuvreerreeeeee e ee e 1
Logo Label.....cooeeeeiieeeeeee e 1
Data/Warning Label.........ccccoccveeiiiiiiieneinee. 1
Warning Label ..., 1
Trigger lcon Label...........coveiiiieiiiiiieeeeee 1
Cordwrap Warning Label...........cccccoeiiieeeenne 1

Indoor Keypad Label (GDM800)
Operator’s Manual




